   

Integrated Algebra Lesson Plan:  Inequalities
Result 2
Performance Indicator:  A.A.4, A.A.5
CCSSM Emphasis:  Reasoning with Equations & Inequalities (A-REI  3)

3.  Solve equations and inequalities in one variable
Essential Question:  How do you translate and solve inequalities of one variable?
The Bridge (Warm-up):  


Solve:

(1) 15 < 2x + 33

Translate and solve the following:

(1) 15 is greater than the sum of twice a number and 33

(2) 15 greater than twice a number is 33
(3) There are 461 students and 20 teachers taking buses on a trip to a museum.  Each bus can seat a maximum of 52. What is the least number of buses needed for the trip?
(4) Which of the following are in the solution set of 
[image: image1.wmf]19

15

3

£

-

x

:
 {0, -9, 8, -3, 1.5,
[image: image2.wmf]2

1

6

, 12, 
[image: image3.wmf]2

15

, 9.7,100}
The Mini Lesson:  
· Go over Warm- up

· Discuss the difference between 15 greater than x and 15 is greater than x (do the same with less than)
· Discuss the following terms: at least, at most, not less than, no more than
· Explain by Graphing x is greater than 3, x is at least (at most) 3, ect.
· Model a verbal problem such as:
· A prom ticket at Smith High School is $120. Tom is going to save money for the ticket by walking his neighbor’s dog for $15 per week.  If Tom already has saved $22, what is the minimum number of weeks Tom must walk the dog to earn enough to pay for the prom ticket?

Work Period:  Worksheet Attached below
Summary/ Closure:  Ticket Out the Door

Amir had $19 to spend at the carnival for admission and rides.  If he paid $5 for admission, and rides cost $3 each, what is the maximum number of rides he could go on?

Homework:  Worksheet Attached below.  Also, chose word problems from Holt- Algebra 1 Chapter 3-4 and 3-5
Extra Practice: Refer to the Holt One- Step Problem Solving worksheets 3-4 and 3-5
Learning Extension:  Regents Prep:  www.regentsprep.org , jmap.org
Integrated Algebra



Name___________________________________

Inequalities, Result 2- Work Time (Class work)

EXERCISE 1: Translate the verbal sentences into an algebraic inequality.

(1) x is at most 50
(2) the sum of 5x and 2x is at least 70
(3) the maximum value of 4x – 6 is 54

EXERCISE 2: Translate and solve the verbal sentences.  Write the solution in set- builder notation.

(1) 6 less than a number is greater than 4

(2) Twice a number increased by 6 is at least 35

EXERCISE 3: Write an inequality and solve the problem algebraically.

(1) The product of nine and x is greater than six more than the product of three and x.
(2) Joan needed $100 to buy a graphing calculator for her math class.  Her neighbor will pay her $5 per hour to babysit and her Father gave her $10 for mowing the lawn.  What is the minimum amount of hours she will need to babysit in order for her to buy her calculator?

(3) Mrs. Scott decided that she would spend no more than $120 to buy a jacket and a skirt.  If the price of the jacket was $20 more than 3 times the price of the skirt.  Find the highest possible price of the skirt?

(4) Stephanie weighs 3 times as much as Rachel.  Both weights are whole numbers and the sum of their eights is less than 160 pounds.  Find the greatest possible weight for ach girl.

(5) Mr. Diaz wishes to save at least $1500 in 12 months.  If she saved $300 during the first 4 months, what is the least possible average amount that she must save in each of the remaining 8 months? 

(6) The dance committee hired a DJ for the fall dance.  The DJ charges $125 per hour plus $55 for an assistant.  The committee wants to keep the total cost under $600.  What is the maximum amount of hours the DJ will play at the dance?

(7) Six more than two times a certain number is less than the number increased by twenty.  Find the numbers that satisfy this condition.

(8) Two consecutive even integers are such that their sum is greater than 98 decreased by twice the larger.  Find the smallest possible values for the integers.

EXERCISE 4: Give at least 3 verbal expressions for each symbol (a few examples are given)
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Name___________________________________

Inequalities, Result 2- Homework

Exercise 1    Find and graph the solution set of each of the following.

1)  5x + 4 < 11 - 2x    [image: image8.png]



2)  2 (2x – 8) – 8x < 0   
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3)  
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4)  5x – 4 > 4 – 3x     [image: image12.png]



5)  
[image: image13.wmf]3

2

1

3

+

£

-

x

x

     [image: image14.png]



Exercise 2
Write an algebraic expression for each.

1)  The greatest possible value of 3y is 30.  __________________________

2)  The product of 3x and (3x + 1) is at least 35.  __________________________

3)  The minimum value of 2x + 1 is 13   _________________________

4)    When x is divided by 3 the quotient is more than 7._______________________

5)  10 more than a number is greater than 50.     __________________________

6)  10 more than the quotient of a number and 8 is at least 12.     __________________________


Exercise 3

Write an inequality and solve the problem algebraically.
1) The length of a rectangle is 5 times its width.  The perimeter of the rectangle is at most 104 meters.  Find the greatest possible dimensions of this rectangle.

2) A club can buy ready-made shirts for $14.50 each. Alternately, it can buy plain T-shirts for $6.25 each, fabric paint for $35.70, and a pack of stencils for $8.50. For how many shirts is stenciling plain T-shirts cheaper than buying ready-made shirts?
3) Members of the band boosters are planning to sell programs at football games. The cost to print the programs is $150 plus $0.50 per program. They plan to sell each program for $2. How many

           programs must they sell to make a profit of at least $500?

4)  The cost per month of making n number of wooden toys is C = 3n  + 30 . The income from selling n toys i s I = 6n . How many toys must the company make to get a profit (I > C) ?

5) At a computer chip factory, a machine temporarily malfunctioned and damaged 2700 chips.  Normally, 150 chips are damaged,  and 400 are produced in good condition each day.  How many days will it take for the factory to recover from a malfunction?

6) Al earns $5.95 per hour working after school. He needs at least $215 for his holiday

shopping.  How many hours must he work to reach his goal?

7) An electronics store sells DVD players and cordless telephones. The store makes a $75 profit on the sale of each DVD player (d) and a $30 profit on the sale of each cordless telephone (c). The store wants to make a profit of at least $255.00 from its sales of DVD players and cordless phones. Which inequality describes this situation?  
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    8)  Mrs. Smith wrote "Eight less than three times a number is greater than fifteen" on the board. If x represents the number, which inequality is a correct translation of this statement?

	1)
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